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Simplify the Expressions:

1.  2 x (-2)


2.  (-2) x 2



3.  (-2) x (-2)

4.  (-2)(-2)(-2)

5.   (-1)(2)(-3)(4)


6.   (-5)2
7.  -52



8.  3 x (-10)



9.  (-3)(-7)(-8)

10.    (-6)(-3)(-2)(-7
11.   15 ÷ (-5)


12.  – 81 ÷ 32
13.  – 49 ÷ (- 7)

14.   – 102 ÷ 17


15.  – 19 – 7 

16.  20 + (-4)



17.  – 8 – (-5) 

18.  13 – (- 6)  



19.  -7 + (-4) – 1 + 8

20.   A student said that if he uses the same numbes but different signs, he can make up two problems that have the same quotient.  For example, 45 ÷ 5 = 9 and – 45 ÷ -5 = 9.  Do you think this is true for a quotient that is a negative number?  Is it true if the quotient is 0?  Explain your answer and provide examples.

